
1)
13  Find Volume of 
         16               Triangular Pyramid 

13 16
11

Answer: ____________

2) Find the value of 'x' by completing the 
square of the following equation: 2 + 
8x + 15

Answer: ____________

3) Find area of square 
having each side (s)
equals 9 cm

Answer: ____________

4) Increase 164 by 1/41

Answer: ____________

5) Factorise d2 + 9d + 18

Answer: ____________

6) Find area of 
rectangle having 
sides a = 37 ft 
and b = 5 ft

Answer: ____________

7) Solve by factorising 
x2 + 8x + 16 = 0

Answer: ____________

8) Round 27.069732 to 3 decimal places.

Answer: ____________

9) b

a o c
Measure angle boa 

Answer: ____________

10) b

a o c
Measure angle boa 

Answer: ____________

11) Share 18 in the ratio 1:2

Answer: ____________

12) 20 ÷ 10

Answer: ____________

13) 88.7 + 19.6

Answer: ____________

14) Solve 3x2 + 19x + 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

15) Increase 224 by 1/56

Answer: ____________
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16) 126 ÷ 18

Answer: ____________

17) A number was shared in the ratio 
2:10. The smaller share was 28. 
What was the total amount shared?

Answer: ____________

18) An amount was increased by 9.4% to 
$415.00. Find the original amount.

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 73 m

Answer: ____________

20) 43/5 x 17/8

Answer: ____________

21) What would you multiply by to 
decrease an amount by 29%?

Answer: ____________

22) 1/18 of 108

Answer: ____________

23) (1 x 76) - (1 x 81)

Answer: ____________

24) 34 x 74

Answer: ____________

25) Find the mean of the following set of data:

2, 0.8

Answer: ____________

26) 25 x 10

Answer: ____________

27) Convert the following mixed number 
15/6 into an improper fraction.

Answer: ____________

28) Find the mode of the following set of data:

22, 22, 22, 10, 10, 44, 44

Answer: ____________

29) Increase 10 by 10%

Answer: ____________

30) 26.3 + 54.2

Answer: ____________
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31) Convert the following fraction into a 
mixed number: 19/10

Answer: ____________

32) Convert the following fraction into a 
mixed number: 16/1

Answer: ____________

33) Find perimeter of 
square having each 
side (s) equals 13 cm

Answer: ____________

34) Find the median of the following set of data:

15, 19, 29

Answer: ____________

35) Factorise 8f2 + 78f + 19

Answer: ____________

36) Solve 13f2 - 19f - 17 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

37) Factorise 5s2 + 17s + 14

Answer: ____________

38) Find area of 
rectangle having 
sides a = 85 m 
and b = 10 m

Answer: ____________

39) Round 27.343 to the nearest 10

Answer: ____________

40) (q4)6

Answer: ____________

41) 72.6 - 79.1

Answer: ____________

42) 3/1 - 9/10

Answer: ____________

43) Find perimeter of 
rectangle having 
sides a = 100 m 
and b = 85 m

Answer: ____________

44) Increase 26 by 50%

Answer: ____________

45) 16000 ÷ 1000

Answer: ____________
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46) (-14) x 17

Answer: ____________

47) 51.5 + 34.6

Answer: ____________

48) Increase 178 by 1/89

Answer: ____________

49) Round 27.7 to the nearest 1000

Answer: ____________

50) (-12) - (-69)

Answer: ____________

Total: ___ / 50
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Answers:

1) 309.83333333333 2) (x + 4)2 - 1 3) 81cm 4) 168 5) (d + 3)(d + 6) 6) 185ft 7) x = -4 or -4

8) 27.07 9) 128 10) 128 11) 6 : 12 12) 2 13) 108.3 14) x = -0.6 or -5.8

15) 228 16) 7 17) 168 18) $379.34 19) 292m 20) 85/8 21) 0.71

22) 6 23) 117641 24) 2516 25) 1.4 26) 250 27) 11/6 28) 22

29) 11 30) 80.5 31) 19/10 32) 16 33) 52cm 34) 19 35) (2f + 19)(f + 1)

36) f = 2.1 or -0.6 37) (1s + 2)(s + 7) 38) 850m 39) 27.3 40) q24 41) -6.5 42) 21/10

43) 370m 44) 39 45) 16 46) 47) 86.1 48) 180 49) 27.7

50) 57
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